VILLAGE OF LOMBARD REQUEST FOR BOARD OF TRUSTEES ACTION For Inclusion on Board Agenda

| X | Resolution or Ordinance (Blue) _ Recommendations of Boards, Cor Other Business (Pink) | Waiver of First Requested mmissions & Committees (Green) |
|--|---|--|
| TO: | PRESIDENT AND BOARD OF | TRUSTEES |
| FROM: | David A. Hulseberg, Village Man | ager |
| DATE: | February 15, 2012 | (B of T) Date: March 1, 2012 |
| TITLE: | Participation in Suburban Tree Co | onsortium |
| SUBMITTED BY: | Steve Kremske, Forestry & Urba | n Landscape Supervisor |
| A resolution express purchase of parkway | r trees. FUNDING SOURCE | in the Suburban Tree Consortium for the 755700 |
| | | • |
| Review (as necessa | ry): | |
| Village Attorney X | | Date |
| Finance Director X | | Date |
| Village Manager X | | Date |
| NOTE: Materials must | be submitted to / approved by the Village M | lanager's Office by 12:00 pm, Wednesday, prior to the |

Agenda Distribution.



Date:

February 15, 2012

To:

David A. Hulseberg, Village Manager

Through:

Carl Goldsmith, Director of Public Works

From:

Steve Kremske, Forestry & Urban Landscape Supervisor

Subject:

Resolution to Continue to Participate in the Suburban Tree Consortium

On August 4, 1988, the Village Board approved participation in the Suburban Tree Consortium. Representing 37 member communities, this organization handles the tree planting bid process in accordance with State of Illinois law. As a member, the Village must commit to a lead-time of five years for the purchase of trees grown based upon projected orders for trees.

The Suburban Tree Consortium provides top quality trees grown specifically for parkway conditions. We have received a superior product in the past and recommend a resolution expressing intent to continue to participate in the five-year contractual program. A copy of the resolution is enclosed.

Please place this item on the Village Board agenda for March 1, 2012. If you have any questions, feel free to call me.

Encl. Resolution

5-Year orders

A RESOLUTION EXPRESSING INTENT TO CONTINUE PARTICIPATION IN THE SUBURBAN TREE CONSORTIUM AND TO AUTHORIZE CERTAIN PURCHASES FOR FY

| WHEREAS, the City [Villag cooperative known as the Suburban Tr | | has heretofore joined the |
|--|---|--|
| WHEREAS, the Suburban Tre | e Consortium was crea an effort to realize cos | ted to jointly purchase parkway trees on t savings and insure a reasonable supply |
| WHEREAS, Chapter 65 of ILO Planting Programs", authorizes municipand delivery of trees; and | CS 5/11-73.1-1 entitled palities to jointly enter | d "Municipal and Joint Municipal Tree into long term contracts for the purchase |
| Suburban Tree Consortium, assuring a r | reasonable number and nitment on the part of t | ry and the plant materials desired by the variety of parkway trees at the best price he Consortium Members, so as to allow liers; and |
| WHEREAS, the Suburban Nurseries/Suppliers a projection of the | Tree Consortium ir parkway tree require | member municipalities provide the ments for the next five years; and |
| WHEREAS, the Suburban Tre the best price of such parkway trees or level of interest by the Consortium Me | nly by providing assura | ze the necessary number and variety and ance to the tree Nursery/Supplier of the |
| NOW THEREFORE BE IT Trustees] of the City [Village] of | RESOLVED by the | City Council [President and Board of, (County), Illinois, as follows: |
| budgeting therefor for the five year per | trees through the Co | main a member of the Suburban Tree nsortium, subject to sufficient annual e anticipated 5-year order is attached. esolutions, in conflict with this resolution |
| BE IT FURTHER RESOLVE to send a copy of this Resolution to the Municipal Conference Office | E D that the City [Villagone Suburban Tree Con | e] Clerk is hereby authorized and directed sortium Secretariat at the West central |
| |) / (D) | |
| | Mayor [Presider | it] |
| Passed: | - | |
| Attest: | | |
| City [Village] Clerk | - | |

5-YEAR SUBURBAN TREE CONSORTIUM ORDERS

| FALL 2012 TREE SPECIES | QTY | COST | TREES | DELIVERY | PLANT | TOTAL | INDIVID TREE COST |
|---------------------------------|-----|----------|------------|----------|----------|-------------|----------------------|
| 2" MIYABEI MAPLE 'STATE STREET' | 5 | \$155.00 | \$775.00 | \$18.00 | \$138.00 | \$1,555.00 | \$311.00 |
| 2" 'BONFIRE' SUGAR MAPLE | 5 | \$160.00 | \$800.00 | \$18.00 | \$138.00 | \$1,580.00 | \$316.00 |
| 2" PACIFIC SUNSET MAPLE | 5 | \$150.00 | \$750.00 | \$18.00 | \$138.00 | \$1,530.00 | \$306.00 |
| 2" 'BRIOTTII' HORSECHESTNUT | 5 | \$180.00 | \$900.00 | \$18.00 | \$138.00 | \$1,680.00 | \$336.00 |
| 2" COMMON HACKBERRY | 5 | \$150.00 | \$750.00 | \$18.00 | \$138.00 | \$1,530.00 | \$306.00 |
| 2" 'RED JEWEL' CRABAPPLE | 5 | \$120.00 | \$600.00 | \$18.00 | \$138.00 | \$1,380.00 | \$276.00 |
| 2" IVORY SILK JAP TREE LILAC | 10 | \$160.00 | \$1,600.00 | \$18.00 | \$138.00 | \$3,160.00 | \$316.00 |
| 2" ACCOLADE ELM | 5 | \$145.00 | \$725.00 | \$18.00 | \$138.00 | \$1,505.00 | \$301.00 |
| | 45 | | \$6,900.00 | | | \$13,920.00 | \$308.50 |

| SPRING 2013 - TREE SPECIES | QTY. | COST | TREES | DELIVERY | PLANT | TOTAL | INDIVID |
|-------------------------------|------|----------|------------|----------|----------|-------------|----------|
| 2" AUT BLAZE FREEMAN MAPLE | 5 | \$130.00 | \$650.00 | \$18.00 | \$140.00 | \$1,440.00 | \$288.00 |
| 2" PACIFIC SUNSET MAPLE | 5 | \$150.00 | \$750.00 | \$18.00 | \$140.00 | \$1,540.00 | \$308.00 |
| 2" EUROPEAN HORNBEAM | 5 | \$160.00 | \$800.00 | \$18.00 | \$140.00 | \$1,590.00 | \$318.00 |
| 2" AMERICAN HORNBEAM | 5 | \$160.00 | \$800.00 | \$18.00 | \$140.00 | \$1,590.00 | \$318.00 |
| 2" SWAMP WHITE OAK | 5 | \$170.00 | \$850.00 | \$18.00 | \$140.00 | \$1,640.00 | \$328.00 |
| 2" IVORY SILK JAP TREE LILAC | 5 | \$160.00 | \$800.00 | \$18.00 | \$140.00 | \$1,590.00 | \$318.00 |
| 2" FRONTIER ELM | 5 | \$145.00 | \$725.00 | \$18.00 | \$140.00 | \$1,515.00 | \$303.00 |
| 2" ACCOLADE ELM | 5 | \$145.00 | \$725.00 | \$18.00 | \$140.00 | \$1,515.00 | \$303.00 |
| | 40 | | \$6,100.00 | | | \$10,980.00 | \$310.50 |

| FALL 2013 TREE SPECIES | QTY. | COST | TREES | DELIVERY, | PLANT | TOTAL | INDIVID TREE COST |
|-----------------------------------|------|----------|------------|-----------|----------|-------------|----------------------|
| 2" CRESHENDO SUGAR MAPLE | 5 | \$180.00 | \$900.00 | \$18.00 | \$140.00 | \$1,690.00 | \$338.00 |
| 2" CRIMSON SUNSET TARTARIAN MAPLE | 5 | \$160.00 | \$800.00 | \$18.00 | \$140.00 | \$1,590.00 | \$318.00 |
| 2" PACIFIC SUNSET MAPLE | 5 | \$160.00 | \$800.00 | \$18.00 | \$140.00 | \$1,590.00 | \$318.00 |
| 2" BRIOTTI RED HORSECHESTNUT | 5 | \$190.00 | \$950.00 | \$18.00 | \$140.00 | \$1,740.00 | \$348.00 |
| 2" KENTUCKY COFFEETREE | 5 | \$165.00 | \$825.00 | \$18.00 | \$140.00 | \$1,615.00 | \$323.00 |
| 2" GOLDEN RAINDROPS CRABAPPLE | 5 | \$130.00 | \$650.00 | \$18.00 | \$140.00 | \$1,440.00 | \$288.00 |
| 2" RED JEWEL CRABAPPLE | 5 | \$130.00 | \$650.00 | \$18.00 | \$140.00 | \$1,440.00 | \$288.00 |
| 2" IVORY SILK JAP TREE LILAC | 5 | \$170.00 | \$850.00 | \$18.00 | \$140.00 | \$1,640.00 | \$328.00 |
| 2" TRIUMPH ELM | 5 | \$160.00 | \$800.00 | \$18.00 | \$140.00 | \$1,590.00 | \$318.00 |
| 2" COMMENDATION ELM | . 5 | \$160.00 | \$800.00 | \$18.00 | \$140.00 | \$1,590.00 | \$318.00 |
| | 50 | | \$8,025.00 | | | \$14,335.00 | \$318.50 |

5-YEAR SUBURBAN TREE CONSORTIUM ORDERS

| SPRING 2014 TREE SPECIES | QTY. | COST | TREES | DELIVERY | PLANT | TOTAL | INDIVID TREE COST |
|-----------------------------------|------|----------|------------|----------|----------|-------------|----------------------|
| 2" CRESHENDO SUGAR MAPLE | 5 | \$180.00 | \$900.00 | \$18.00 | \$142.00 | \$1,700.00 | \$340.00 |
| 2" CRIMSON SUNSET TARTARIAN MAPLE | 5 | \$160.00 | \$800.00 | \$18.00 | \$142.00 | \$1,600.00 | \$320.00 |
| 2" PACIFIC SUNSET MAPLE | 5 | \$160.00 | \$800.00 | \$18.00 | \$142.00 | \$1,600.00 | \$320.00 |
| 2" KENTUCKY COFFEETREE | 5 | \$165.00 | \$825.00 | \$18.00 | \$142.00 | \$1,625.00 | \$325.00 |
| 2" WHITE OAK | 5 | \$180.00 | \$900.00 | \$18.00 | \$142.00 | \$1,700.00 | \$340.00 |
| 2" SCARLET OAK | 5 | \$180.00 | \$900.00 | \$18.00 | \$142.00 | \$1,700.00 | \$340.00 |
| 2" SHINGLE OAK | 5 | \$180.00 | \$900.00 | \$18.00 | \$142.00 | \$1,700.00 | \$340.00 |
| 2" CHINKAPIN OAK | 5 | \$180.00 | \$900.00 | \$18.00 | \$142.00 | \$1,700.00 | \$340.00 |
| 2" SHUMARD OAK | 5 | \$180.00 | \$900.00 | \$18.00 | \$142.00 | \$1,700.00 | \$340.00 |
| 2" IVORY SILK JAP TREE LILAC | 5 | \$170.00 | \$850.00 | \$18.00 | \$142.00 | \$1,650.00 | \$330.00 |
| | 50 | | \$8,675.00 | | *** | \$16,675.00 | \$333.50 |

| FALL 2014 TREE SPECIES | QTY. | COST | TREES- | DELIVERY | PLANT | TOTAL | INDIVID TREE COST |
|-----------------------------------|------|----------|------------|----------|----------|-------------|----------------------|
| 2" STATE STREET MIYABEI MAPLE | 5 | \$185.00 | \$925.00 | \$18.00 | \$142.00 | \$1,725.00 | \$345.00 |
| 2" CRESHENDO SUGAR MAPLE | 5 | \$190.00 | \$950.00 | \$18.00 | \$142.00 | \$1,750.00 | \$350.00 |
| 2" CRIMSON SUNSET TARTARIAN MAPLE | 5 | \$180.00 | \$900.00 | \$18.00 | \$142.00 | \$1,700.00 | \$340.00 |
| 2" PACIFIC SUNSET MAPLE | 5 | \$175.00 | \$875.00 | \$18.00 | \$142.00 | \$1,675.00 | \$335.00 |
| 2" BRIOTTI RED HORSECHESTNUT | 5 | \$210.00 | \$1,050.00 | \$18.00 | \$142.00 | \$1,850.00 | \$370.00 |
| 2" KENTUCKY COFFEETREE | 5 | \$190.00 | \$950.00 | \$18.00 | \$142.00 | \$1,750.00 | \$350.00 |
| 2" RED JEWEL CRABAPPLE | 5 | \$150.00 | \$750.00 | \$18.00 | \$142.00 | \$1,550.00 | \$310.00 |
| 2" ROYAL RAINDROPS CRABAPPLE | 5 | \$150.00 | \$750.00 | \$18.00 | \$142.00 | \$1,550.00 | \$310.00 |
| 2" IVORY SILK JAP TREE LILAC | 5 | \$185.00 | \$925.00 | \$18.00 | \$142.00 | \$1,725.00 | \$345.00 |
| 2" TRIUMPH ELM | 5 | \$175.00 | \$875.00 | \$18.00 | \$142.00 | \$1,675.00 | \$335.00 |
| 2" COMMENDATION ELM | 5 | \$175.00 | \$875.00 | \$18.00 | \$142.00 | \$1,675.00 | \$335.00 |
| | 55 | | \$9,825.00 | | | \$16,950.00 | \$338.64 |

| SPRING 2015 TREE SPECIES | QTY. | COST | TREES | DELIVERY | PLANT | TOTAL | INDIVID TREE COST |
|-----------------------------------|------|----------|------------|----------|----------|-------------|----------------------|
| 2" CRESHENDO SUGAR MAPLE | 5 | \$190.00 | \$950.00 | \$18.00 | \$144.00 | \$1,760.00 | \$352.00 |
| 2" CRIMSON SUNSET TARTARIAN MAPLE | 5 | \$180.00 | \$900.00 | \$18.00 | \$144.00 | \$1,710.00 | \$342.00 |
| 2" PACIFIC SUNSET MAPLE | 5 | \$175.00 | \$875.00 | \$18.00 | \$144.00 | \$1,685.00 | \$337.00 |
| 2" KENTUCKY COFFEETREE | 5 | \$190.00 | \$950.00 | \$18.00 | \$144.00 | \$1,760.00 | \$352.00 |
| 2" WHITE OAK | 5 | \$200.00 | \$1,000.00 | \$18.00 | \$144.00 | \$1,810.00 | \$362.00 |
| 2" SCARLET OAK | 5 | \$200.00 | \$1,000.00 | \$18.00 | \$144.00 | \$1,810.00 | \$362.00 |
| 2" SHINGLE OAK | 5 | \$200.00 | \$1,000.00 | \$18.00 | \$144.00 | \$1,810.00 | \$362.00 |
| 2" CHINKAPIN OAK | 5 | \$200.00 | \$1,000.00 | \$18.00 | \$144.00 | \$1,810.00 | \$362.00 |
| 2" SHUMARD OAK | 5 | \$200.00 | \$1,000.00 | \$18.00 | \$144.00 | \$1,810.00 | \$362.00 |
| 2" IVORY SILK JAP TREE LILAC | 5 | \$185.00 | \$925.00 | \$18.00 | \$144.00 | \$1,735.00 | \$347.00 |
| | 50 | | \$9,600.00 | | | \$17,700.00 | \$354.00 |

5-YEAR SUBURBAN TREE CONSORTIUM ORDERS

| FAUL 2015 TREE SPECIES | QTY. | COST | TREES | DELIVERY | PLANT | TOTAL | INDIVID TREE COST |
|-----------------------------------|------|----------|------------|----------|----------|-------------|----------------------|
| 2" STATE STREET MIYABEI MAPLE | 5 | \$185.00 | \$925.00 | \$19.00 | \$142.00 | \$1,730.00 | \$346.00 |
| 2" CRESHENDO SUGAR MAPLE | 5 | \$190.00 | \$950.00 | \$19.00 | \$142.00 | \$1,755.00 | \$351.00 |
| 2" CRIMSON SUNSET TARTARIAN MAPLE | 5 | \$180.00 | \$900.00 | \$19.00 | \$142.00 | \$1,705.00 | \$341.00 |
| 2" PACIFIC SUNSET MAPLE | 5 | \$175.00 | \$875.00 | \$19.00 | \$142.00 | \$1,680.00 | \$336.00 |
| 2" BRIOTTI RED HORSECHESTNUT | 5 | \$210.00 | \$1,050.00 | \$19.00 | \$142.00 | \$1,855.00 | \$371.00 |
| 2" KENTUCKY COFFEETREE | 5 | \$190.00 | \$950.00 | \$19.00 | \$142.00 | \$1,755.00 | \$351.00 |
| 2" RED JEWEL CRABAPPLE | 5 | \$150.00 | \$750.00 | \$19.00 | \$142.00 | \$1,555.00 | \$311.00 |
| 2" ROYAL RAINDROPS CRABAPPLE | 5 | \$150.00 | \$750.00 | \$19.00 | \$142.00 | \$1,555.00 | \$311.00 |
| 2" IVORY SILK JAP TREE LILAC | 5 | \$185.00 | \$925.00 | \$19.00 | \$142.00 | \$1,730.00 | \$346.00 |
| 2" TRIUMPH ELM | 5 | \$175.00 | \$875.00 | \$19.00 | \$142.00 | \$1,680.00 | \$336.00 |
| 2" COMMENDATION ELM | 5 | \$175.00 | \$875.00 | \$19.00 | \$142.00 | \$1,680.00 | \$336.00 |
| | 55 | | \$9,825.00 | | | \$17,000.00 | \$339.64 |

| SPRING 2016 TREE SPECIES | QTY. | COST | TREES | DELIVERY | PLANT | TOTAL | INDIVID TREE COST |
|-----------------------------------|------|----------|------------|----------|----------|-------------|----------------------|
| 2" CRESHENDO SUGAR MAPLE | 5 | \$190.00 | \$950.00 | \$19.00 | \$146.00 | \$1,775.00 | \$355.00 |
| 2" CRIMSON SUNSET TARTARIAN MAPLE | 5 | \$180.00 | \$900.00 | \$19.00 | \$146.00 | \$1,725.00 | \$345.00 |
| 2" PACIFIC SUNSET MAPLE | 5 | \$175.00 | \$875.00 | \$19.00 | \$146.00 | \$1,700.00 | \$340.00 |
| 2" KENTUCKY COFFEETREE | 5 | \$190.00 | \$950.00 | \$19.00 | \$146.00 | \$1,775.00 | \$355.00 |
| 2" WHITE OAK | 5 | \$200.00 | \$1,000.00 | \$19.00 | \$146.00 | \$1,825.00 | \$365.00 |
| 2" SCARLET OAK | 5 | \$200.00 | \$1,000.00 | \$19.00 | \$146.00 | \$1,825.00 | \$365.00 |
| 2" SHINGLE OAK | 5 | \$200.00 | \$1,000.00 | \$19.00 | \$146.00 | \$1,825.00 | \$365.00 |
| 2" CHINKAPIN OAK | 5 | \$200.00 | \$1,000.00 | \$19.00 | \$146.00 | \$1,825.00 | \$365.00 |
| 2" SHUMARD OAK | 5 | \$200.00 | \$1,000.00 | \$19.00 | \$146.00 | \$1,825.00 | \$365.00 |
| 2" IVORY SILK JAP TREE LILAC | 5 | \$185.00 | \$925.00 | \$19.00 | \$146.00 | \$1,750.00 | \$350.00 |
| | 50 | | \$9,600.00 | | | \$17,850.00 | \$357.00 |